COLLEGE ALGEBRA EXAM 1 EGR R? NAME

Show ALL WORK on this test or on separate paper. Circle answers.
TURN IN ALL WORKSHEETS. Calculators are required on this test.

In 1 - 3, factor completely and simplify if possible:

1
2

-1
1. 2a*b - 16ab* 2. (2x+y)’ - 10(2x+y) + 25 3. x2+ 492 - xHx? +4) 2

In 4 - 6, use your calculator to evaluate. Give scientific notation or round to nearest hundredth.
(NOTE: These are CALCULATOR PROBLEMS!!)
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42) /70,000 sa) SAS X 10 6a) (2 + iy
9.36 x 10
b) 70,000 py Y6+ V13 by 2L
ﬁ _ \/'5‘ 8 +5i

(Express in fractional form!)

. - = |
7. Simplify: ?x 1 - (3y)‘§




In 8 - 10, simplify the radicals (rationalize denom):

8a) 72x°7° 9a) 12 10a) Give radical form. — V12
V3 6/2 + /6

3
b) 72x°y*° b) %/% b) Give calculator approximation

In 11 - 18, solve for X (use exact radical form and complex numbers as necessary!):

11, L -1, 1 12. (x+5)2=20
F X U
13. x*-6x-4=0 14. 2x(x +3) = 7x



15, x*+6x+25=0

17 Jx +4 - B3x =2 18.

19. SKeted # ?V%

20. j@ggz &L o s o
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x+12
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Séx

X

x2+12

16, (X+ 6x)° + 3(x* + 6x) - 70 = 0
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